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Ba/Eco-201

20109

( 2nd Semester )

ECONOMICS

Paper : Eco-201

( Microeconomics—II )

( PART : A—OBJECTIVE )
( Marks : 25)

The figures in the margin indicate full marks for the questions

SECTION—I
( Marks : 15)

A. Tick M the correct answer in the box provided :

1x10=10
1. In a monopoly market situation
(a) the products have no close substitutes a
(b) the products are homogeneous O
(c) a monopolist is a price-taker O

(d) a monopolist has no control on supply .

/400



(2)

a firm’s short-run

2. Under perfect competition,
equilibrium is achieved, when

(@ MC =MR O

() MC curve is rising at the point of
equilibrium O

(c) Both (a)and (b) O
(d) None of the above 0O

3. The theory of group equilibrium of monopolistic
competition is developed by

(a) Joan Robinson O
() E. H. Chamberlin O
(c) A.P.Lerner O

(d) Paul M. Sweezy O

4. Under monopolisti i43
polistic competiti
firm is ompetition, the entry of

(a) restricted O
(b) blocked O
(c) easy O

(d) limited O

Ba/Eco-201/400

(3)

5. The key feature of oligopoly is
(@) high profitability O
(b) product differentiation 0O
(c) interdependence of firms O

(d) easy entry O

6. Each seller assumes his/her rival’s output as

being constant under
(a) Cournot’s duopoly model El
(b) Edgeworth’s non-collusive model

(c) Sweezy model of kinked demand

(d) All of the above O

7. Quasi-rent has been popularized by
(a) Marshall O
(b) Adam Smith O
(c) Robertson m}

(d) Ricardo o

Ba/Eco-201/400
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(4) (5)

rises on B. Indicate whether the follow:
. theory, rent & ¢ lollowing statements are
> :(fgg:cri)l:l A modern True (T) or False (F) by a Tick (/) mark : 1x5=5
1 O
(a) land only 1. A monopoly can fix price and output
(b) labour only O simultaneously to maximize his profit.
(T / F)

(c) capital only O

(d) All of the above O
2. Under monopolistic competition, selling costs
are essential to push up the sales.

9. The classical theory explained interest as
a reward for (T / F)

(@) risk-taking O

(b) abstinence O 3. Pure oligopoly is a market where products of
a few sellers are differentiated.

(c) parting with liquidity O (T / F)

(d) inconvenience O

10. Net profi 4. Real wages include money wages and various
' Profit stands for benefits which the workers receive in terms
of goods and services for their work.
(a) total _TEVENUE - (ot cog g
depreciation) O + ; (T / F)

(b) gross profit — implicit cost ]

(c) gross profit - explicit cont 0 5. Bnnov;tiznst}}:eory tof profit was given by
oseph A. Schumpeter.
(d) None of the above 0 (T / F)
Ba/Eco-201/400
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(6) ¥

2. Sellin
SecTioN—II B ot

( Marks : 10)

: ¢ 2x5=1
C. Write short notes on any five of the following 0

1. Price discrimination

Ba/Eco-201/400 Ba/Eco-201/400



(8)
(9)

3. Duopoly
4. Wage differentialg

Ba/Eco-201/400



10 )
( (11
5. Non-i ble risk
on-insurable risks 6. Types of oligopoly

Ba/Eeo-201/400
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(12 )

S
7. Money wages and real wage

LE 2%

Ba/Eco-201/400
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( 2nd Semester )

ECONOMICS

\)

Paper : Eco-201
( Microeconomics—II ) te

Full Marks : 70 Pass Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )
( Marks : 45)

The figures in the margin indicate full marks
for the questions

1. . 3
Explain the important features of a perfectly
COmpetitive market. 9
3

Or

Exnla:
Plain the conditions necessary for the

€xi
belstence of monopoly. How can monopoly
Controlled and regulated? 3+6=9

i

LQ/%O&
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( ’I‘llm Ouer)



(2)

2. What is product differentiation? Explz.ain how
product differentiation and advertisement
influence the price and output of a firm
working under monopolistic competition. 2+7xq

Or

Explain the short-run/long-run equilibrium
of a firm under monopolistic competition. 9

3. Explain how Price and output are determined
in Edgeworth’s duopoly model. Can
a determinate and unique equilibrium be

reached? 7+2=9
Or

Explain price rigidity in oligopoly market with

the help of kinkeq demand cyrye 9

Critically examine Ricardian theory of rent. 9

S. Explain the neoclassica] theory of interest. 9

Or
“Profit is the reward for uncertainty bearing.”
Discuss. 9
* kA
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2019
( 4th Semester )
ECONOM1cg
Paper : Eco-401

( Macroeconomlcl—u )

( PART : A—oRjECTIVE )
( Marks : 25)

The figures in the margin indicate Sull marks for the questions

SECTION—I
( Marks : 15)

A. Put a Tick (v) mark against the correct answer in the
brackets provided : 1x10=10

1. In the Fisherian equation, value of money is
determined by

(a) supply of money ( )
(b) demand for money (120t )

(c) demand for and supply of money ( )

(d) quantity of money (.

/453



. which one of ¢
of money?

(a) Measure of value

tore of value

®) S
(c Transfer O
standard of deferred payment ¢

f value ()

(d)

3. Which of the following is not a quantitathe
. method of credit control?

(a) Open market operation ( )

) Bankrate ()

{c) Regulation of consumer credit ()
(d) Variable cash reserve ratio ( )

4. Money supply means
(a) currency ()
(b) currency notes in circulation ( )

(¢) cash balanceg held by the Government and
the banks ()

M) total stocy ’
Moment Of(mon)ey In circulation at any

Ba/Eco-401/453

‘

following is & P rimary fUncuOn

(3)
5. An increase in the money suppl
which of the followingp SRS
(a) Higher interest rate {00
(b) Lower interest rate ()
(c) A recession ()

(d) Higher Government spending (.

6. Which of the following functions is performed by
a Central Bank?

(@) Credit creation ( )
(b) Discounting of bills ( )
(c) Ownership of commercial banks ( )

(d) Custodian of cash reserves of

banks ( )
7. The concept of inflationary gap was given by
(a) Wicksell )
(b) Keynes t: )
(c) Milton Friedman { =)

(d) A. W. Phillips ()

Ba/Eco-401/453



(4)

the Wage and salary €arnerg

g, During inflatio™
are

(@) gainers
(b) losers

[C} not afchth

()
()

(d@ None of the above

The monetary theory of trade cycle is associateq
with the name of

(@ J. M. Keynes ()

(b) A. C. Pigou ( )
{0 R. G. Hawtrey ()

(d) J. Schumpeter ( )

10. i
0. During the upward phase of a trade cycle, the

central bank will
(@) increase the cagh reserve ratio ( )
(b) increase the bank rate ( )

(0 1
) lower down the cash reserve ratio ( )

(@) lower interest rate ()

Ba/Eco—401/483

B. Indicate True (T) or Falge (F) by a Tick ) X
mar S
1x5=5

1. Value of money is in :
1evel versely related to the price

(T / F)

2. Commercial banks are the custodians of foreign
reserves.

(T / F)

3. Broad money is high-powered money.
(T / F)

4. Business cycles operate periodically at regular

intervals of 10 to 12 years.
(T / F)

5. During inflation, debtors are generally the

gainers.
(T / F)

Ba/Eco-401/483



7
(6) | &
| 2. Explain Central Bap
spcTioN—II ’ the Govériiuens ank’s function as a banker to
( Marks : 10) o
|

C. Write/Answer briefly on any five of the following :
2x5=10

1. Importance of money in modern economy

Ba/Eco—401/453 [
. Ba/Eco-401/463



(9)

|

t i ; .
3. What is high-powered money? 4. What is galloping or hyperinflation?

Ba/Eco—401/453
Ba/Eco-401/483



- (11)

Distinguish betw i ;
5. What are the different phases of a trade cycle? 6. gul een Inflation ang Deflation,

a/Eco—401/453
Ba/Eco-401/463




(12 )

7. Concept of accelerator

* o o
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ECONOMICS

Paper : Eco-401

( Macroeconomics—II )

Full Marks : 70 " Ppass Marks : 45%

Time : 3 hours

( PART : B—-—DESCRIP’I‘IVE )
(Marks : 45)
marks

The figures in the margin indicate full
for the questions

1. Define Money. Discuss the functions of
2+7=9

money.
Or

Critically examine the Fisher’s equation of

exchange.

9

2. Define a pank. ‘Discuss the functions of
1+8=9

commercial banks.

L9/453a ( Turn Over )




(2)

Or

Explain how a central bank can control
credit through bank rate and open market

operation. C
3. What is money supply? Describe the various
components of money supply. 2+7=C
Or
Describe the measures of money supply used
by Reserve Bank of India. ; G
4. Define inflation. What are the various .types
of inflation? 2+7=9
Or
Explain the effects of inflation on production
and distribution. 4Ya+4,=G

5. What is business cycle? Explain how
business cycles can be controlled. 2+7=9

Or -
Critically discuss Hicks’ theory of trade cycle. 9

* ok ok
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Ba/Eco-601

2019
( 6th Semester )

ECONOMICS

Paper No. : ECO-601

( Indian Economy—II )

( PART : A—OBUECTIVE )
(Marks: 25)
The figures in the margin indicate full marks for the questions

SECTION—I

( Marks: 10)

A. Put a Tick M mark against the correct answer in the
box provided : 1x10=10

‘1. Which State is the largest producer of rice in the
country?

(a) West Bengal O

(b) Andhra Pradesh O
(c) Sikkim O

(d) Assam O

/500



N (2)

: ars, Cooperatjy
e following ye e
2 In whicht zrar“'d in India?

movemen

@ 1004 0
) 1909 o
() 1927 O
@ 1930 O

3 Indig’s which Industrial Policy f's a!so known ag
) A:e country’s Economic Constitution’
u v

fa) 1948 0
(b) 1956 0O
¢ 1951 O

{d 1970

(]

4. Which is the latest

Public Sector Unit in India to
be given the statuy

s of ‘Maharatna”

(@) Hindustap Petroleum

a
(b) Bhargt Petroley O
fe] 0i Indig Limiteq a
d) G i
(d) Gag Authority of Indig Limiteq O
Ba/ Eco-60] /500

_’”' e

one of the main reasons
5.

that led to rapid
expansion of India’s import

is

(a ) gold D
(p) rice a
(©) information technology O

(d) fertilizers 0O

India received its highest FDI from which of the
S following countries?

(a) United Kingdom 0O
(b) China 0
(c) Hong Kong O

(d) Mauritius a

i ulation in
7 What was the proportion of r\::rt':arll :uos;;
' Nagaland according to 2011

(a) 6884 percent a
(b) 71-03 percent o
(c) 72-03 percent 0
(d) 6909 percent 0

Ba/Eco-601/500




(4)
the first St
s o, T o ain o
:-Eral clcctriﬁcation?
(@ 1985 o
(b) 1988 O
(c) 1995 O
(d) 1998 O

o. How many varieties of species are being
reported to be grown in home gardens in

Nagaland?
(a) 122 species
(b) 128 species

fc) 132 species

{d) 118 species

10. Which District in
o Nagaland record :
: ed the h
Yielding in the production of Coffee? € highest

fa) Mon O
(c) Mokokchyy, g 5

(d) Tue nsan. g D

Ba/Eco601/50¢

\&

(5)

SECTION—11
(Marks : 5 )

B 1 d](:ate True (]) or )a'lse {1) by a l](:k (/) k-
n mar.
1x5=5

1. Agriculture is the backbone of India’s economy
(T / F)

2. Most of the major industries in India are owned
by the government.

(T / F)
3. Portfolio investment demands ownership
whenever investment takes place.
(¢ /1 F)

4. Nagaland is also known as the ‘organic capital
State’ of India.
(T / F)

ational highways.

5. Nagaland has a total of five 0
(T / F)

Ba/Eco-601/500




(6)

on—1II
SECTI n. Cottage Industries

( Marks : 10)

Or

Foreign Exch,
ange Regulation Act of |
ndia

es on the following ' 2x5=1g

¢. Write short not

1. Problems of Indian agriculture
}

or
High yielding variety seeds

Ba/EcMOUSoo
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4
(8)
| (9)
3. Role of foreign trade * 5 rose i Nageang
or
Or
Railway and road transport ;
In Nagalang

Export promotion MEASUTES

Ba/Eco-601/500

B
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( 10 )

5. SEZs in Nagaland

Or

Jhum cultivation

* k

L9—2800/500
Ba/ Eco-601



Ba/ EC0~6()1

20109
( 6th Semester )

ECONOMICS
Paper No. : ECO-601
(Indian Economy—Ir )
Full Marks : 70 - Pass Marks : 45%
x Time : 3 hours
( PART : B—DESCRIPTIVE-)
( Marks: 45)

The figures in the margin indicate full marks
- for the questions

L What is agricultural productivity? Discuss
the causes of low agricultural productivity in

Indig 2+7=9
Or
i hat Were the various land reform measures
ntr(’Chlced in India? 9
L9 /

N

P



(2)

2. Discuss the New industrial Policy of 1991,

9
Or |

What are small-scale industries? ‘Disguss t.he ;
importance of small-scale industries 11 India,

2+7=9 1

3. Examine the recent changes. in the
composition and direction of foreign trade.

Or

What are the factors responsible for
mounting crisis in Balance of Payments in
recent years? 9

4. Explain the demographic features of
Nagaland. 9

Or

What is structural change? What are the

features of occupational structure in |
Nagaland? 0+7=9

!
What are the basic features of industrial ‘
development in Nagaland? |

Or
Discuss the various agricult | i
u in
Nagaland. 8 ral problems g
* ke k
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20109
( 6th Semester )

ENVIRONMENTAL STUDIES

Paper : EVS-601

Full Marks : 70
Pass Marks : 45%

Tizﬁe : 3 hours
The figures in the mafgin indicate full marks for the questions

SECTION—A

Put a Tick @ mark against the correct answer in the box
provided : REE ‘ 7 5" 1x15=15

1. What is the most important environmental issue of
this century? : e+ :

(a) Scarcity of water O

(b) Climate change ]

(¢) Population growth O

(d) Shortage of petroleum Ul

/490



(4)

8. What is meant by upcycling?
(@) Recovering useful material from waste 0

(b) Turning waste into products of higher

quality O
(c) Separating waste into categories O
(d) Composting biodegradable waste %

Which of the following is the successful International
Agreement on ozone layer depletion?

(a) Kyotb ‘Protocol O
(b) Vienna Convention O
(c) Montreal Protocol O

(d) Copenhagen Accord O

10. Acid rain is formed when

(@) man-made chemical ajr

pollutants combine with
atmospheric water drop

lets O

(b) matter decomposes O

(c) factories let oyt gases

O

(d) an acid mixeg with rain

O

Ba/BS/BC/Bba/Bca/EVS~II/490
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11. Which of the following views about the environment
1s currently dominant?

(a) Anthropocentric view O
(b) Ethical view 0
(c) Biocentric view O

(d) Ecocentric view O

12. Which of the following statements is true with regard
to Tsunami?

(a) It is a tidal wave. O

(b) It Moves very fast in the ocean. O

(c) It is caused by moon’s gravitation. O

(d) 1tis caused by an undersea earthquake. O

13. What is meant by disaster mitigation?

(a) Funding research in environment O
(b) Returning the community [
(c) Awareness towards environment O

(d) Minimizing the possible effects of
disaster W

a

Ba/Bs/Bc/Bba/Bca/EVS-11/490



(6)

All is the
14. The Decade of Qustainable Energy for

initiative of
(@ UK O
(b) India O

(c) Germany O

(d) United Nations O

15. What does OPEC stand for?
(a) Petroleum Exporting Countries O

(b) Organization of Pakistan, Egypt and China O

(c) Organization of the

Petroleum Exporting
Countries O

(d) Open People and Exchange Countries O

Ba/Bs/Bc/Bba/Bca/EVS-]1/49¢
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SECTION—B

Answer the following in short : 2%5=10

1. What is meant by ‘keystone’ species?

Ba/Bs,/Bc/Bba/Bca/EVS-11/490



(8)

2. Explain a food chain.

3. What is the importance of rainwater harvesting?

Ba/Bs/Bc/Bba/Bca/EVS-11/490



(9)

4. What is the impact of deforestation on the
environment?

5. What is meant by eutrophication of lakes?

Ba/Bs/Bc/Bba/Bca/EVS-11/490
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SECTION—C

1. Explain ecological succession and its various stages. 5

Ba/Bs/Bc/Bba/Bca/EVS-11/490



(11)

2. Discuss biodiversity conservation in the context of

moral and ethical values. 2

Ba/Bs/Bc/Bba/Bea/EVS-11/490



(12)

3. What is watershed management? Write its benefits. 5

Ba/Bs/Bc/Bba/Bca/LVS-11/490



(13 )

SECTION—D

1. What is climate change? Mention the major critical
man-made factors responsible for climate change
and its consequences. 2+4+4=10

Ba/Bs/Bc/Bba/Bca/ EVS-11/490



(16 )

2. What do you mean by ‘disaster mitigation™? List the
main elements of effective mitigation strategy. 3+7=10

Ba/Bs/Bc/Bba/Bca/EVS-11/490



(19 )

3. What i : |
steps ar? i:(‘;;ti?nable development? What are the
ual can take for sustainable living?

4+6=10

Ba/Bs/Bc/Bba/Bca/EVS-11/490
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